

On the irreducibility of bivariate polynomials

by
DORU ȘTEFĂNESCU

*Dedicated to Professors Toma Albu and Constantin Năstăsescu
on the occasion of their 70th birthdays*

Abstract

We study the irreducibility of general bivariate polynomials over algebraically closed fields of characteristic zero. We obtain factorization conditions in terms of the degree index and we deduce the irreducibility for classes of polynomials that include that of quasi-generalized difference polynomials.

Key Words: Irreducible polynomials, polynomial factorization.

2010 Mathematics Subject Classification: Primary: 12E05, Secondary: 11R09.

Introduction

There exist many consistent results on the irreducibility of bivariate polynomials. Many of them study the irreducibility of difference polynomials $f(X) - g(Y)$ and of their generalizations. One of the largest families of such polynomials is the class of quasi-generalized difference polynomials. We remind that, if k is a field, $F(X, Y) \in k[X, Y]$ is called a *quasi-generalized difference polynomial* if

$$F(X, Y) = cY^d + \sum_{i=1}^d P_i(X)Y^{d-i},$$

with $c \in k \setminus \{0\}$, $d \in \mathbb{N}^*$, $P_i(X) \in k[X]$.

If

$$\frac{\deg(P_i)}{i} < \frac{\deg(P_d)}{d}, \quad 1 \leq i \leq d-1,$$

then F is called a *generalized difference polynomial*.

Various authors obtained irreducibility conditions for such polynomials, for example Abhyankar–Rubel [1], Angermüller [2], Ayad [3], Bhatia–Khanduja [4], Bishnoi–Khanduja–Sudesh [5], Cohen–Movahhedi–Salinier [6], Panaitopol–Ștefănescu [8], Rubel–Schinzel–Tverberg [9].

In this paper we shall study the irreducibility for some classes of bivariate polynomials of the form

$$F(X, Y) = \sum_{i=0}^d P_i(X)Y^{d-i} \in k[X, Y],$$

where $P_0(X)$ can be a non-constant polynomial and k is an algebraically closed field of characteristic zero. This will be done using properties of the degree index associated to a general bivariate polynomial and factorization properties derived from them.

Irreducibility conditions

To the polynomial

$$F(X, Y) = \sum_{i=0}^d P_i(X)Y^{d-i} \in k[X, Y]$$

we associate the *degree-index*

$$p_Y(F) = \max_{1 \leq i \leq n} \frac{\deg(P_i) - \deg(P_0)}{i}.$$

We have

Proposition 1. *If $F = F_1F_2$ is a nontrivial factorization of the polynomial $F \in k[X, Y]$ we have*

$$p_Y(F) = \max\{p_Y(F_1), p_Y(F_2)\}.$$

Proof: We suppose that

$$F(X, Y) = P_0(X)Y^d + P_1(X)Y^{d-1} + \cdots + P_{d-1}Y + P_d(X)$$

and we consider the formal power series $G(X, Y) = Y^dF(X^{-1}, Y^{-1}) \in k((X))[Y]$. We use the representation

$$G(X, Y) = \sum_{i=0}^d H_i(X)Y^i,$$

where $H_i(X) = P_{d-i}(X^{-1}) \in k((X))$. We consider $r_i = \text{ord}H_i(X)$ and

$$e(G) = \max_{1 \leq i \leq d} \frac{r_0 - r_i}{i}.$$

We put $d_1 = \deg(F_1)$, $d_2 = \deg(F_2)$ and we consider

$$\begin{aligned} G_1(X, Y) &= Y^{d_1}F_1(X^{-1}, Y^{-1}), \quad \text{and} \\ G_2(X, Y) &= Y^{d_2}F_2(X^{-1}, Y^{-1}). \end{aligned}$$

We have $G = G_1G_2$ in $k((X))[Y]$ and by results of G. Dumas [7] on the Newton polygon of a product of two polynomials we have

$$e(G) = \max\{e(G_1), e(G_2)\}.$$

On the other hand $r_i = \text{ord}H_i(X) = \text{ord}P_i(X^{-1}) = -\text{deg}(P_i)$, so

$$\frac{r_0 - r_i}{i} = \frac{\text{deg}(P_i) - \text{deg}(P_0)}{i},$$

which gives the result. □

In the case P_0 is a nonzero constant it was proved that the polynomial $F(X, Y)$ is irreducible provided the degree index satisfies suitable conditions (see for example [2] and [8]).

Proposition 2. *If $F = F_1F_2$ is a factorization of the polynomial $F(X, Y) = \sum_{i=0}^d P_i(X)Y^{d-i} \in k[X, Y]$ with $F_1, F_2 \in k[X, Y] \setminus k$ and*

$$p_Y(F) = \frac{\text{deg}(P_d) - \text{deg}(P_0)}{d},$$

then $p_Y(F) = p_Y(F_1) = p_Y(F_2)$.

Proof: We consider the polynomial $G(X, Y) \in k[X, Y]$ defined by

$$G(X, Y) = P_0(X)^{d-1}F\left(X, \frac{Y}{P_0(X)}\right) = Y^d + \sum_{i=1}^d P_0(X)^{i-1}P_i(X)Y^{d-i}$$

Next, we consider the factorization $F = F_1F_2$ and we assume that

$$\begin{aligned} F_1(X, Y) &= Q_0(X)Y^{d_1} + \sum_{i=1}^{d_1} Q_i(X)Y^{d_1-i}, \\ F_2(X, Y) &= R_0(X)Y^{d_2} + \sum_{i=1}^{d_2} R_i(X)Y^{d_2-i}. \end{aligned}$$

We have $P_0 = Q_0R_0$ and we put

$$\begin{aligned} G_1(X, Y) &= R_0(X)P_0(X)^{d_1-1}F_1\left(X, \frac{Y}{P_0(X)}\right), \\ G_2(X, Y) &= Q_0(X)P_0(X)^{d_2-1}F_2\left(X, \frac{Y}{P_0(X)}\right). \end{aligned}$$

We observe that G, G_1 and G_2 are monic with respect to Y , and that

$$G(X, Y) = G_1(X, Y)G_2(X, Y).$$

For the computation of the degree index of the polynomial G we note that

$$\frac{\text{deg}(P_0^{i-1}P_i)}{i} = \frac{(i-1)\text{deg}(P_0) + \text{deg}(P_i)}{i} = \text{deg}(P_0) + \frac{\text{deg}(P_i) - \text{deg}(P_0)}{i},$$

which yields

$$p_Y(G) = \deg(P_0) + \max_{1 \leq i \leq d} \frac{\deg(P_i) - \deg(P_0)}{i} = \deg(P_0) + p_Y(F).$$

On the other hand,

$$G_1(X, Y) = Y^{d_1} + \sum_{i=1}^{d_1} R_0 P_0^{i-1} Q_i Y^{d_1-i},$$

so for the computation of the degree index of G_1 we notice that

$$\begin{aligned} \frac{\deg(R_0 P_0^{i-1} Q_i)}{i} &= \frac{\deg(R_0) + (i-1)\deg(P_0) + \deg(Q_i)}{i}, \\ &= \deg(P_0) + \frac{\deg(Q_i) - \deg(Q_0)}{i}. \end{aligned}$$

Similarly, we have

$$G_2(X, Y) = Y^{d_2} + \sum_{i=1}^{d_2} Q_0 P_0^{i-1} R_i Y^{d_2-i},$$

and we obtain

$$\begin{aligned} \frac{\deg(Q_0 P_0^{i-1} R_i)}{i} &= \frac{\deg(Q_0) + (i-1)\deg(P_0) + \deg(R_i)}{i}, \\ &= \deg(P_0) + \frac{\deg(R_i) - \deg(R_0)}{i}. \end{aligned}$$

Therefore

$$\begin{aligned} p_Y(G_1) &= \deg(P_0) + \max_{1 \leq i \leq d_1} \frac{\deg(Q_i) - \deg(Q_0)}{i} = \deg(P_0) + p_Y(F_1), \\ p_Y(G_2) &= \deg(P_0) + \max_{1 \leq i \leq d_2} \frac{\deg(R_i) - \deg(R_0)}{i} = \deg(P_0) + p_Y(F_2). \end{aligned}$$

Let us put

$$\begin{aligned} m &= (d-1)\deg(P_0) + \deg(P_d), \\ m_1 &= \deg(R_0) + (d_1-1)\deg(P_0) + \deg(Q_{d_1}), \\ m_2 &= \deg(Q_0) + (d_2-1)\deg(P_0) + \deg(R_{d_2}). \end{aligned}$$

We obviously have $m = m_1 + m_2$ and $d = d_1 + d_2$, while from Theorem 1 in [8] we have $p_Y(G) = \max\{p_Y(G_1), p_Y(G_2)\}$. Therefore

$$\frac{m_1}{d_1} \leq \frac{m}{d} = \frac{m_1 + m_2}{d_1 + d_2},$$

from which we deduce that $m_1 d_2 \leq m_2 d_1$. Similarly, we have

$$\frac{m_2}{d_2} \leq \frac{m}{d} = \frac{m_1 + m_2}{d_1 + d_2},$$

from which we deduce now that $m_1d_2 \geq m_2d_1$. This yields

$$\frac{m_1}{d_1} = \frac{m_2}{d_2} = \frac{m_1 + m_2}{d_1 + d_2} = \frac{m}{d},$$

which shows that $p_Y(G) = p_Y(G_1) = p_Y(G_2)$. All that remains now is to subtract $\deg(P_0)$ in these equalities, which leads us to $p_Y(F) = p_Y(F_1) = p_Y(F_2)$, and completes the proof. \square

Remark: For the particular case when P_0 is a non-zero constant, our Proposition 2 gives Proposition 2 of Panaitopol-Ştefănescu in [8].

Corollary 3. *Let $F(X, Y) = \sum_{i=0}^d P_i(X)Y^{d-i} \in k[X, Y]$, with $P_0P_d \neq 0$, and $d \geq 1$. If $p_Y(F) = \frac{\deg(P_d) - \deg(P_0)}{d}$ and $\gcd(\deg(P_d) - \deg(P_0), d) = 1$, then F is irreducible in $k[X, Y]$.*

Proof: We may obviously assume that F is not divisible by a polynomial $f \in k[X]$. Let us assume now that $F = F_1F_2$ is a non-trivial factorization of F in $k[X, Y]$, $d_1 = \deg_Y(F_1)$, $d_2 = \deg_Y(F_2)$, and that F_1 and F_2 are represented as in the proof of Proposition 2. We have

$$p_Y(F_1) = p_Y(F_2) = p_Y(F) = \frac{\deg(P_d) - \deg(P_0)}{d}.$$

It follows that there exists an index $i \in \{1, \dots, d_1\}$ such that

$$p_Y(F_1) = \frac{\deg(Q_i) - \deg(Q_0)}{i} = \frac{\deg(P_d) - \deg(P_0)}{d} = p_Y(F).$$

We put now $a = \deg(Q_i) - \deg(Q_0)$ and $m = \deg(P_d) - \deg(P_0)$, and we have

$$\frac{a}{i} = \frac{m}{d} \quad \text{with} \quad \gcd(m, d) = 1.$$

Therefore $ad = mi$, and since m and d are coprime integers, there exists a positive integer u such that $i = ud$, so in particular we must have $i \geq d$. On the other hand we obviously have $i \leq d_1 < d$, a contradiction. This shows that F must be irreducible in $k[X, Y]$, and completes the proof. \square

Corollary 4 (Panaitopol-Ştefănescu, 1990). *Let*

$$F(X, Y) = cY^d + \sum_{i=1}^d P_i(X)Y^{d-i},$$

where $c \in k \setminus \{0\}$, $d \in \mathbb{N}^*$, and $P_i(X) \in k[X]$. If $p_Y(F) = \deg(P_d)/d$ and $\gcd(\deg(P_d), d) = 1$, the polynomial F is irreducible in $k[X, Y]$.

Remark: Another extension of Corollary 4 was obtained by Bhatia-Khanduja [4].

We consider now bivariate polynomials F in $k[X, Y]$ for which the degree index is not equal to $(\deg(P_d) - \deg(P_0))/d$.

Theorem 5. *Let*

$$F(X, Y) = \sum_{i=0}^d P_i(X)Y^{n-i} \in k[X, Y], P_0P_d \neq 0$$

and assume that there exists an index $s \in \{1, 2, \dots, d\}$ such that the following conditions are fulfilled:

- (a) $\frac{\deg(P_i) - \deg(P_0)}{i} \leq \frac{\deg(P_s) - \deg(P_0)}{s}$ for all $i \in \{1, 2, \dots, d\}$;
- (b) $\gcd(\deg(P_s) - \deg(P_0), s) = 1$;
- (c) $\frac{\deg(P_s) - \deg(P_0)}{s} - \frac{\deg(P_d) - \deg(P_0)}{d} = \frac{1}{sd}$.

Then $F(X, Y)$ is either irreducible in $k[X, Y]$, or has a factor whose degree with respect to Y is a multiple of s .

Proof: Let us suppose that there exists a non-trivial factorization $F = F_1F_2$ of the polynomial F in $k[X, Y]$. Let us put now $m = \deg(P_d) - \deg(P_0)$, $a = \deg(P_s) - \deg(P_0)$ and observe that by hypothesis (a) we have $p_Y(F) = a/s$, while by hypothesis (c) we have

$$\frac{a}{s} - \frac{m}{d} = \frac{1}{sd}.$$

Therefore $ad - sm = 1$. We suppose that

$$\begin{aligned} F_1(X, Y) &= Q_0(X)Y^{d_1} + \sum_{i=1}^{d_1} Q_i(X)Y^{d_1-i}, \\ F_2(X, Y) &= R_0(X)Y^{d_2} + \sum_{i=1}^{d_2} R_i(X)Y^{d_2-i}. \end{aligned}$$

and we also put $m_1 = \deg(Q_{d_1}) - \deg(Q_0)$ and $m_2 = \deg(R_{d_2}) - \deg(R_0)$.

By Proposition 1 we have

$$p_Y(F) = \max\{p_Y(F_1), p_Y(F_2)\},$$

hence we must have the inequalities

$$\frac{m_1}{d_1} \leq \frac{a}{s}, \quad \frac{m_2}{d_2} \leq \frac{a}{s}.$$

We deduce that

$$\frac{m_2}{d_2} = \frac{(\deg(P_d) - \deg(P_0)) - (\deg(Q_{d_1}) - \deg(Q_0))}{d - d_1} = \frac{m - m_1}{d - d_1} \leq \frac{a}{s},$$

so $sm - sm_1 \leq ad - ad_1$, and it follows that

$$0 \leq ad_1 - sm_1 \leq ad - sm = 1.$$

Therefore $ad_1 - sm_1 \in \{0, 1\}$.

Let us first suppose that $ad_1 - sm_1 = 0$. In this case, since a and s are coprime integers, s must divide $d_1 = \deg_Y(F_1)$.

In the remaining case we have $ad_1 - sm_1 = 1$, which may be also written as $a(d - d_2) - s(m - m_2) = 1$, or equivalently that $(ad - sm) + (sm_2 - ad_2) = 1$. Now, since $ad - sm = 1$, we deduce that $sm_2 = ad_2$, and since a and s are coprime integers, s must divide $d_2 = \deg_Y(F_2)$.

We therefore conclude that either F is irreducible, or has a factor whose degree with respect to Y must be a multiple of s . This completes the proof of the theorem. \square

Examples

1. Let $F(X, Y) = p(X)Y^d + q(X)Y + r(X) \in k[X, Y]$ where $p \neq 0$, $d > 1$. We suppose that $\deg(p) = 1$ and $\deg(q) = \deg(r) = 2$. We have

$$\begin{aligned} \frac{\deg(q) - \deg(p)}{d - 1} &= \frac{1}{d - 1}, \\ \frac{\deg(r) - \deg(p)}{d} &= \frac{1}{d}, \\ \frac{\deg(q) - \deg(p)}{d - 1} - \frac{\deg(r) - \deg(p)}{d} &= \frac{1}{(d - 1)d}. \end{aligned}$$

Since $\gcd(1, d - 1) = 1$ we can apply Theorem 5 for $s = d - 1$. Therefore either F is irreducible in $k[X, Y]$, or has a divisor whose degree with respect to Y is a multiple of $d - 1$. Such a divisor must obviously have degree equal to $d - 1$, so if F is reducible, then it must have a linear factor with respect to Y .

Therefore either F is irreducible, or has a divisor of the form $s(X)Y - t(X)$ with $s, t \in k[X]$, $s \neq 0$.

2. Let $F(X, Y) = P(X)Y^d + Q(X)Y^3 + R(X)Y + S(X) \in k[X, Y]$, where $P(X) \neq 0$, $d > 3$. If

$$\deg(P) = m \geq 1, \deg(Q) = n \leq m \quad \text{and} \quad \deg(R) = \deg(S) = m + 1$$

the polynomial F is either irreducible in $k[X, Y]$, or has a divisor of degree 1 with respect to Y .

Proof: Here we will apply Theorem 5 too. We first observe that

$$\frac{\deg(Q) - \deg(P)}{d - 3} = \frac{n - m}{d - 3} \leq 0 < \frac{1}{d - 1} = \frac{m + 1 - m}{d - 1} = \frac{\deg(R) - \deg(P)}{d - 1}.$$

On the other hand

$$\frac{\deg(R) - \deg(P)}{d - 1} - \frac{\deg(S) - \deg(P)}{d} = \frac{1}{d - 1} - \frac{1}{d} = \frac{1}{(d - 1)d}.$$

Therefore $p_Y(F) = \frac{1}{d-1}$, and the hypotheses of Theorem 5 are satisfied. \square

Acknowledgements. The author is grateful to the anonymous referee for improving the presentation of this paper.

References

- [1] S. S. ABHYANKAR, L. A. RUBEL: Every difference polynomial has a connected zero-set, *J. Indian Math. Soc.*, 43, 69–78 (1979).
- [2] G. ANGERMÜLLER: A generalization of Ehrenfeucht’s irreducibility criterion, *J. Number Theory*, 36, 80–84 (1990).
- [3] MOHAMED AYAD: Sur les polynômes $f(X,Y)$ tels que $K[f]$ est intégralement fermé dans $K[X,Y]$, *Acta Arith.*, 105, 9–28 (2002).
- [4] S. BHATIA, S. K. KHANDUJA: Difference polynomials and their generalizations, *Mathematika*, 48, 293–299 (2001).
- [5] A. BISHNOI, S. K. KHANDUJA, K. SUDESH: Some extensions and applications of the Eisenstein irreducibility criterion, *Developments in Mathematics*, 18, 189–197 (2010).
- [6] S. D. COHEN, A. MOVAHHEDI, A. SALINIER: Factorization over local fields and the irreducibility of generalized difference polynomials, *Mathematika*, 47, 173–196 (2000).
- [7] G. DUMAS: Sur quelques cas d’irréductibilité des polynômes à coefficients rationnels, *Journal. Math. Pures Appl.*, 12, 191–258 (1906).
- [8] L. PANAITOPOL, D. ȘTEFĂNESCU: On the generalized difference polynomials, *Pacific J. Math.*, 143, 341–348 (1990).
- [9] L. A. RUBEL, A. SCHINZEL, H. TVERBERG: On difference polynomials and hereditary irreducible polynomials, *J. Number Theory*, 12, 230–235 (1980).

Received: 20.05.2013,

Accepted: 23.06.2013.

Univeristy of Bucharest, Department
of Theoretical Physics and Mathematics
E-mail: stef@rms.unibuc.ro